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FO0DORDTINATENVERTIETCHNIS

Vorgegebene Punkte

Pkt.Bez. -Y +X Stabilisierungsart
1es ~ 4160 57 513,54 231 685,17
Wb - 4162 57 525,99 231 697,28
—106261/berechnet aus der 57 543,64 231 680,99
Y -10627f Feldskizze Nr. 538 57 559,22 231 666,60
—10628)- berechnet aus der 57 538,38 231 670,00
316} '10623} Feldskizze Nr. 541 57 521,10 231 692,52
57 ~10630 Agr. Op. 57 539,92 231 646,61
uns =999 7 gy, 2 57 559,61 231 642,33«
w04 ~10000 " 57 548,04 231 631,03
2901 57257220 231 654,62 -
PP 3121 57 481,26 BIEey 68, /
BP 5 57 647,54 231 463, 33
Eingerechnete Punkte
Ke3s - 10631 . 57 549,86 231 675,24 Eisenrohr
w530~ 10632 - 57 532,24 231 657,83 et s
1102 - 10633 - 57 529,61 231 700,80 s =

4 57 541,04 231 666,53

E-lektronische Flachenberechnung

iber folgende Punkte:

e 2
10000-9999-1-10632-10630-10000 = 417,293 o’ Teilfl5che (D= 417

. 2
9999-2901-10627-10631=1-9999 Sk Tei1f1iche (= 455 n
10631=10633-4162-10631 = 81,903 Teilfliche()= 82 n’
1-10631-4162-10629-1 = 312,204 n? Tellf1iche®= 312 n
10631-10633-4160-106 3210631 . Fliche des Gst.Mr. 452/2 = 767 n’

TETLFLACHERMYSWELS 18 M2
Aus den
ifon zu den neuen Grundparzellen é%teg
Grundp. 452/1 | 452/ W7/ i

w2t (@) v | [ R | j
452/ |(D| 455 R @_‘1 Mew
W7/1 | - |®] v - 2158

Neuer Std, 872 R 767 R 2158
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